
Question -1) Which of the following best describes the primary concern of the Karnataka
Reservation Bill as discussed in the passage?

A) The Bill seeks to provide opportunities to local candidates in the high-skill job sector.
B) The Bill aims to address regional socio-economic disparities by reserving jobs for local candidates.
C) The Bill intends to promote national unity by encouraging interstate migration.
D) The Bill focuses on the employment of local candidates to prevent their migration to other states.

Question -2) According to the passage, what is a significant reason for industries preferring
migrant workers for unskilled jobs?

A) Migrant workers have higher skill levels.
B) Migrant workers are less likely to form unions and are easier to exploit.
C) Migrant workers demand higher wages than local workers.
D) Migrant workers are more efficient than local workers.
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Question -3) What is the main criticism of the Bill as outlined in the passage?

A) The Bill is seen as promoting national unity at the expense of local employment.
B) The Bill is considered too lenient and ineffective in addressing job reservations.
C) The Bill is perceived as heavy-handed and requiring a rethink of some provisions.
D) The Bill is criticized for focusing too much on high-skill job reservations.

Question -4) What does the passage suggest is a broader issue that needs to be addressed
beyond the Bill itself?

A) The lack of high-skill job opportunities in Karnataka.
B) The constitutional right to freedom of movement within India.
C) The need for a national debate on India's job crisis and regional development disparities.
D) The importance of maintaining corporate sector profitability.

Question -5) Why does the author suggest that the issue of local reservations for jobs cannot
be dismissed as mere parochialism?

A) Because it is mandated by the Indian Constitution.
B) Because it reflects the political leadership's attempt to respond to local electorate needs.
C) Because it ensures equal opportunities for all states in India.
D) Because it promotes migration for unskilled jobs.

Question -6) What institutional response does the author suggest is necessary to address
issues of federalism and national unity?

A) Establishing new employment generation programs.
B) Resurrecting the National Development Council.
C) Implementing stricter labor laws.
D) Promoting interstate migration.
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